
- 11 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-05 rev. 00
09/2015

6.4A

ASSIEMI

USA

CEE

AUST

UK

CH

1

2

3

4

5

6

7

8

5

5

9
5

10

11

10
11

12

13
13

14

15

16

17

18

19

20

21

22

23

23

24
24
10

11

25

26
27
28
29
30

32

33

34

31

35

36

37

38

sistema telescopico/telescopic system

temporizzatore/timer



WMCK-05

- 12 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.4A

ASSIEMI

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286028 VITE TT85T 5x12 IDT K01131 SCREW VIS SCHRAUBE

2 WY28286072 PROTEZIONE INFERIORE K00802 LOWER GUARD PROTECTION INFERIEURE UNTERER KETTENSCHUTZ

3 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

4 WY28286056 RONDELLA K00082 WASHER LAVER UNTERLEGSCHEIBE

5 WY28286027 VITE TT85T 5x12 K01132 SCREW VIS SCHRAUBE

6 WY28360015 PIEDINO GOMMA BEARING FOOT PIED DE SUPPORT STUTZFUSS

7 WY28400010 VASCHETTA RECUPERO CAFFE'VERS.03 K803 MAC. COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

8 WY28165003 INTERRUTTORE BIP. NERO K069 MAC.ASC COFFEE GRINDER SWITCH INTERRUPTEUR MOULIN SCHALTER KAFFEEMUHLE

8 WY28165006 INTERRUTTORE CON LED K01290 MAC. ASC SWITCH WITH LED INTERRUPTEUR AVEC LED SCHALTER MIT LED

9 WY28126011 FORCELLA CORTA K815 MAC.ASC COFFEE GRINDER FORK K815 FOURCHETTE x MOULIN K815 GABEL x KAFFEEMUHLE K815

10 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

11 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

12 WY28400040 INTERRUTTORE 8.0 K8 FRESH K00069D SWITCH INTERRUPTEUR SCHALTER

13 WY28286031 VITE TT65T M5x12 K02079 SCREW VIS SCHRAUBE

14 WY28102004 DOSATORE COMPLETO ALL. DX K01226 COMP. DOSER COMPAC DISTRIBUTEUR COMPLET KOMPLETTE SPENDER

15 WY28286001 RECIPIENTE DOSATORE K030 MAC.AS CONTAINER DOSER K030 C.G.A RECIPIENT POUR DOSEUR K030 MA BEHALTER DOSIERANLAGE   K030

16 WY28002012 ANELLO CROM.x DOS.K6 K221 MAC.ASC CHROME RING FOR K6 DOSER K221 BAGUE CROME K221 CHROM RING K221

17 WY28054012 COPERCHIO DOSATORE K804 MAC.ASC 03 COFFEE GRINDER DOSER COUVERCLE DOSEUR MOULIN DOSIERANLAGEDECKEL FUR KAFFEEMUHLE

18 WY28286042 PRESSACAVO K01293 CABLE GRIP PRESSE CABLE PRESSEKABEL

19 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

20 WY28126010 TAPPO K00104 MAC.ASC CAP CAPUCHON KAPPE

21 WY28360048 PASSA CAVO K00024 CABLE LOCKING PASSE CABLE LIPPKLAMPE

22 WY28002007 ASSIEME ARRESTO AUTOM. K732 MAC.ASC AUTOMATIC DOSER KIT COFFEE GRINDER K6 ENSEMBLE ARRET AUTOMATIQUE SATZ AUTOM.SPERRE

23 WY28286026 VITE TT65Z 4x8 K01058 SCREW VIS SCHRAUBE

24 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

25 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

26 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

27 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

28 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

29 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

30 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA

31 WY28286077 CABLAGGIO ARRESTO AUTOMATICO 220V SENZA RE AUTOMATIC SHUTDOWN WIRING 220V CABLAGE DE L'ARRET AUTOMATIQUE 220V AUTOMATISCHE ABSCHALTUNG VERDRAHTUNG

31 WY28286078 CABLAGGIO ARRESTO AUTOMATICO 110V SENZA RE AUTOMATIC SHUTDOWN WIRING 110V CABLAGE DE L'ARRET AUTOMATIQUE 110V AUTOMATISCHE ABSCHALTUNG VERDRAHTUNG 

32 WY28400009 VITE TC M6X16 K073 MAC. ASC SCREW TC M6X16 K073 GRIND.AS VIS SCHRAUBE

33 WY28126006 FORCELLA LUNGA K015 MAC.ASC COFFEE GRINDER LONG FORK K015 FOURCHETTE x MOULIN LONG GABEL LANG x KAFFEEMUHLE

34 WY28286064 VITE ARRESTO K00456 STOPPING SCREW STOP VIS STOP SCHRAUBE

35 WY28286091 MANOPOLA INTERRUTTORE K01265 SWITCH KNOB BOUTON DE L'INTERRUPTEUR SCHALTER REGLER

36 WY28286144 VITE CL8IT 3.1x8 K05063 SCREW VIS SCHRAUBE

37 WY28219008 MOLLA x STELLA  K062 MAC.ASC SPRING FOR STAR RESSORT x ETOILE FEDER x STERN

38 WY28286074 TIMER COUPATAN C20 5 MIN 7992002105 K00990 TIMER TIMER TIMER




